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(Group 1)
1- Subtract.
94 42
-51 -21

Find the result, then write “> , < or =".

2.

80 — 60 16 &) 3 64 — 20 40 + 4

3. Find the missing number

9+( )=14
. OO T o
14-( )=9
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4- Wrié tI:e fact family for each.

(5] (3] (8]

5- Find the missing numbers.

8= ) 124 Y=

(Group 2)

1- Subtract.
36 38
-15 -23

Find the result, then write “> , < or =".

?2-

17112 35+ 20 23 + 54 99 =210
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5. Find the missing number

4 + =12
+4=12
12 - =4

12-4=1

4. Write the fact family for each.

4 6 10

+ =

+ —]

5- Find the missing numbers.

15-7=( ) 15-( )=7

( )+7=15 7+( )=15




(Group 3)
1- Subtract.
42 66
-21 -33

Find the result, then write “> , < or =".

2-

31 & 50 80 — 10 89 =) 32

3. Find the missing number

9+( )=14
14 Bl )
14-( )=9
C )+9=14
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14 + 33
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12)
+ —
4= —|

5- Find the missing numbers.

13-8=( ) 13-(_ )=8






